Best model for HELP J022335.596-041713.676 at z = 1.355 x°=2.54
OPTx?=3.09 IRx?=1.39 threshold (OPT IR)=18.84 [um]

1

Flux [m])y]

1

1

Relative residual flux .

2 -
10 Stellar attenuated
[ [ Stellar unattenuated
1 _' m —— Dust emission
10 /ﬁ}\[] —— AGN emission
] = Model spectrum
0 ) ® Model fluxes
10 3 M oObserved fluxes
071 3 :
E""ﬂ’""u"‘*"h--‘ P “ .
q SLUS ts .
N\~
0—2 4 .
.
073 4 :
04
071
| i == (Obs-Mod)/Obs
o —- - e ——————————————— -
-1 rrr] T — b
100 10! 102 103

Observed wavelength [um]

—r  CIGALE



